
If 𝑦 =  sinh 𝑥 

then 
𝑑𝑦

𝑑𝑥
=  cosh 𝑥 

If 𝑦 =  cosech 𝑥 

then 
𝑑𝑦

𝑑𝑥
=  − cosech 𝑥 coth 𝑥 

If 𝑦 =  cosh 𝑥 

then 
𝑑𝑦

𝑑𝑥
=  sinh 𝑥 

If 𝑦 =  sech 𝑥 

then 
𝑑𝑦

𝑑𝑥
= sech 𝑥 tanh 𝑥 

If 𝑦 =  tanh 𝑥 

then 
𝑑𝑦

𝑑𝑥
=  sech2 𝑥 

If 𝑦 =  coth 𝑥 

then 
𝑑𝑦

𝑑𝑥
= − cosech2 𝑥 

If 𝑦 =  arsinh 𝑥 

then 
𝑑𝑦

𝑑𝑥
=  

1

√𝑥2+1
 

 

If 𝑦 =  arcsin 𝑥 

then 
𝑑𝑦

𝑑𝑥
=  

1

√1−𝑥2
 

 

If 𝑦 =  arcosh 𝑥 

then 
𝑑𝑦

𝑑𝑥
=  

1

√𝑥2−1
 

 

If 𝑦 =  arccos 𝑥 

then 
𝑑𝑦

𝑑𝑥
=  

−1

√1−𝑥2
 

 

If 𝑦 =  artanh 𝑥 

then 
𝑑𝑦

𝑑𝑥
=  

1

1− 𝑥2 
 

If 𝑦 =  arctan 𝑥 

then 
𝑑𝑦

𝑑𝑥
=  

1

1+ 𝑥2 
 

 


